Prach’ce M[d%erm 1 solutfrouc.

Problon 1

@ (j(-l'ZX(j:)c } 5[0)—;,2




t(tvy) y'= ylty)
f{.f’;,_ g(t-y)
dt — Fltr)

HOMOgénémf '@Cfud?[("OVL) yse C@é(ﬁ‘/&((([bh

/ = = /
U Qf’éw Y =0+ to

Loley=tolE-te)  u(-o)

6('6'/’11'()’) - l+ U
tor= 0(=0) _ = u(l-0) -0+v) _ =20
i o I+ 0

ln ths cace we cawt Cxplicitly colve for o
/01, f{) So the @ Loy pe /m‘z’oh A3 ﬂle ét"f/ weé (Qhy Q/Q
)



g)(%zlj,: 5X41"73

ngZ.g’a gZ:gX4

y ()=

-4 _
3X ’gz
-Y
P =y

Ths i Bernoull: tqua fivn, with y-_p
Vee  cubstitation 5 :ffM =yz

o '=3y*y’
SO or iginal equatiob  cay be v wriftes,
X0' =3 v,y

s

XU,"()-‘:—BX((
/
) ’)((]-—- 3)(3

Vsing wtegratiag toctor p=p

<o--—> T 2
AR

S'Kiq’;(

N Dads

|

|

U te l

!

U= x4 Cx |

_ 3 |
g =Y xi+(y



M =10 (/muJV{d(S)

5:( [M/e eSSU e  Fhat ﬂza} s Ly/oa/ ZZWZ //m/(f
Vedors 7‘0 bocowse  otheg e f yeales
WO Sease - me are wot pien death yute 4

3{ = )([/0 X)

@ Eqm/[én‘wm points: 9 X'(/O-()
X (I0~x) =0 ¢
X=0 or x=/0
For v=0: i xys Joce foO >0 2N
Zm x (J0- /() >p
‘ & <o, )((/0‘1/)<D -, -
so X =0 LS b{nx'/qé/( 0
S img Qr/ 7% X=(0 ¢
SO x/[O o Stable e




(reall thal xS /O/W/afio& (4 %)
Thus, tish-hand side 4

x(10-x)~ 4 __ _ A
S =XT 40y -2 _
100 +Ux Jjoo = ~ &Zﬁox wh_
/0o
2= /0°- 4. h
10 4 oo —di Crimcngy [
I —_—
) ) > ) 720‘» D«< O veo vook

D20 !

<< oo 7520 © hg2s500
h
T L(ﬁ/ %01» /1 L Q4500 ‘l[hé?é Qre. 2 efk{/iér[ah,, /07{(
h = 2500 one_ eftcc'/félf[wlh /o?(

oo h >2500 no €fta'/z‘4'*[a/«1 pt<

Critical valee o« Ah=2¢w . for /Mgéa A

9\[’ Solutious 14/[// y o Z2Erp, ’

Fbr o V“[w 04€ we hale oné 67&[/1’4#:’«/‘,

70
h
)
-, _ oxlD
POLLT,  X= =K < & {
7tz J

e Koo 72& h



@E7unﬁom a = %z"’%/;
dor g
olt r2
dr _ do dr _ s
¢ db azﬂy %——' b, £o
o AV - G
ar re
ode = -GM %/f*
i, Z—G,»M + C
U= 26M ¢
—
Since v(B)=vs we 9¢ e gt 26t .
z) 26/&,{ , ) P
C=0 "=,
z_ 2 _ 1
o o+ 26M [l— —E (TA[J ‘Zﬂ‘”m“/ﬂ /L
O = \[26M ' Rlco n eyt book
escape R » *° Uo =5 Ugy,
5 z Vescape
o2 L 26k
L 7
4 g 2T =M, 26k
A 4
= 26M(L -2
r R




Maxem g | Agc‘ﬁﬁzf s whea U=

/

50 ,,/_,__é_;:O
roo4R
L. 2
F 4R
-4
r 32






Poblon, £

e

({,1)1_45,- S@—:O
@ C /\drtzdémlf;‘c @?1/ Q ﬁvn
Fe+4r-5 <o
| (’+5’>(r~]>:/0
rools - -5 4
Carreslpo””[&’bi SO rons - 9 -5x

/: 6 ) 92:Q>¢
O e e .
W = / = o >X p¥ “(-5/6-57 o*
-58-51 e)(-
Gy
=e +z§’e‘7(

:6. Q‘Qk #ﬁ

@enem/ So/wf(@n ;

-5x "
y==¢-¢ +C, e

y(9) =@s = C,+C, =4

9//0)= 7 = -5¢+C =7
Y olv[nj this g gL ten, g ives

__1 _ 1€
Cy 3 C; =3
Lo g LY
Y = 36 +.§—€



